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1. The leading schools of macroeconomic thought argue the following about budget deficits:
A. Neoclassical economists claim they are never justified; Keynesian economists argue deficits are not a big deal.  
B. Neoclassical economists claim they are never justified; Keynesian economists argue deficits are only justified when the economy is weak.  
C. Neoclassical economists claim they are not a big deal; Keynesian economists argue deficits are only justified when the economy is weak.  
D. Neoclassical economists claim they are only justified when the economy is weak; Keynesian economists argue deficits are not a big deal.  
E. Neoclassical economists claim they are never justified; Keynesian economists argue deficits are only justified when the economy is strong.  

2. The “crowding out” effect results from:
A. People buying stocks instead of government bonds.
B. People putting their money in banks instead of buying government bonds
C. Greedy businesses
D. People buying government bonds instead of buying stocks or putting money in banks.
E. None of the above

3. The impact of fiscal stimulus on the economy depends on the relative weights of two factors: the size of the multiplier and the degree of crowding out.  Is fiscal policy likely to have a large impact on real GDP if budget deficits are financed from abroad?
A. Only if the economy is below capacity in the “Keynesian zone.”
B. Only if the economy is at capacity in the “Neoclassical zone.”
C. No, crowding out will eliminate any possible effect because government spending is only replacing domestic investment and there is no multiplier effect if there is no net in increase in overall spending.
D. Yes, the multiplier effect will be much larger because financing deficits from abroad increases imports, which results in larger domestic spending.
E. Yes, domestic crowding out will be avoided, which allows for the multiplier effect to take hold, resulting in an increase in real GDP. 

4. If an economy experiences a recession due to a decrease in aggregate demand:
A. Fiscal and Monetary stimulus can lower unemployment but only at the cost of much higher inflation. 
B. Fiscal and Monetary contraction and lower inflation and unemployment.
C. Monetary stimulus will be effective but fiscal stimulus will not. 
D. Fiscal stimulus will be effective but monetary stimulus will not. 
E. Fiscal and Monetary stimulus can lower unemployment without substantial inflation.

5. To influence the economy with fiscal policy:
A. The Fed adjusts interest rates
B. The Fed makes decisions about spending, taxes, and borrowing 
C. Congress makes decisions about spending, taxes, and borrowing
D. Congress adjusts interest rates
E. None of the above

6. If an economy experiences a recession due to a decrease in aggregate supply: 
A. Fiscal and Monetary contraction and lower inflation and unemployment.
B. Fiscal stimulus will be effective but monetary stimulus will not. 
C. Fiscal and Monetary stimulus can lower unemployment without substantial inflation.
D. Monetary stimulus will be effective but fiscal stimulus will not. 
E. Fiscal and Monetary stimulus can lower unemployment but only at the cost of much higher inflation. 

7.  From 2009 to 2014, U.S. government spending relative to GDP:
A. Increased 20%
B. Increased 10%
C. Decreased 20%
D. Decreased 10% 
E. Stayed the same

8. Trade and budget deficits are often referred to as the “twin deficits.”  Why is this the case?
A. Domestic crowding out leads to an increase in imports and a decrease in exports, so budget deficits cause trade deficits.
B. Trade deficits decrease savings and investment domestically because people are spending more on imports, which are often subsidized by other countries, so trade deficits cause budget deficits. 
C. Trade deficits are often signs of a bubble in some sector, commonly real estate.  When the bubble pops large budget deficits will follow.
D. Budget deficits must be financed somehow and it is common to borrow money in global financial markets.  When this occurs a trade deficit can arise if there is little change in domestic savings or investment. 
E. Budget deficits must be financed globally because when a country spends more than its income it has to borrow the money from somewhere.  Thus budget deficits result in trade deficits. 

9. In the Presidential primaries so far there has been surprisingly little discussion of the national debt.  Why might this be the case?
A. Government spending relative to GDP and the deficit have declined in recent years, to the point that deficits are not seen as a pressing issue.  In fact, most candidates are proposing policies that would increase the debt. 
B. All Presidential candidates promise to balance the budget because that appeals to the median voter.  Since there is no difference between the candidates on that issue they don’t bring it up on the campaign trail. 
C. Democratic candidates plan to tax and spend, increasing the debt, while Republicans plan to reduce the size of government.  Once the campaign moves to the general election these differences will come into sharp relief and the debt will be a big issue. 
D. Because the national debt doesn’t matter. 
E. Voters understand that the government is not like a household and can therefore maintain a high debt burden with few long term consequences. 

10.  For most of U.S. history, the government only ran large deficits to fund major wars and then paid down the debt during peaceful times.  When did this trend change and why?
A. It changed when Reagan was President because the President wanted to cut taxes but Congress wanted to maintain spending so they comprised.
B. It changed when Clinton was President because the President wanted to maintain spending but Congress wanted to cut taxes so they comprised.
C. It changed after WWII because of the ongoing nature of the Cold War.
D. It changed with the Vietnam War because it continued for so long.
E. It changed when George W. Bush was President because of the response to 9/11. 
 


Answer Key
1. B
2. D
3. E
4. E
5. C
6. E
7. C
8. D
9. A
10. A

